Hﬂ'ﬂ:iﬂmﬁ']

Time : 3 hours

‘Mwﬂmﬁm’m:‘;‘r“ ———— A gwn: 1
Total No. of Questiong - 18 | [T(El?l—:lgfz? Printed pages : 11

B-231300-B
fawa ; amfees faae
Subject : Social Science
[Tlﬁ?ﬁ : 75
] ‘ [ Maximum Marks : 75

e : Wl U9 T it

Note : Attempt all questions.
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Instruction : (A)

@UE (d) T @Ue (W) 1 @8 (1) § agfamedid ¥, TU8
(%) § 3faa wey ey T @ve (7) A fw wrl A
q gafua ¥4 &1 va% @08 § 5 g § au TlE WEH W 1
3o 3yTaifed § )

Question No. 1 is an objective type question. It has three
Parts—Part (A), Part (B) and Part (C). Part (A) has Multiple
choice type questions, Part (B) has Match the following and
Part (C) has Fill in the blanks. Each Part has 5 questions

and each question carries | mark.
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(2]

(TU¥-¥) T faweq e fufay -

(Part-A)  Choose and write the correct option :

() Fefataa ¥ A #-o@ tfaw qonm @ 22

(37 TN 3T 7 WAy

() |

(7)) "= 9req

(2) M=

Which of the following is not a biotic resource?
(@) Animal kingdom and plant

(b)) Rocks

(c) Fishenes

(d) Livestock

(i) =aTs ¥ X fFm a@m o afus e &2

(37) 99a @

(&) 9] @

(7) w5 @

() 3= 4 4 = 7l
Rate of interest is more in :
(a) Savings account

(6) Current account

(c) Fixed deposit

(d) None of the above

[1x5=5)
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(SN 9 2y sty 57w €

(%) g PG, 9 A N 6

(%) W oy, 39 @ srfors @

(%) 3fzn o 4 wré 7¢

A balanced budget is :

(@) when income and expenditure are equal
(6) when expenditure is less than income

(c) when expenditure is more than income

(d) None of the above

(iv) Frefefaa e 29 3 | e fasma ¥ fogma | fam 2w 1 oo
VA | aEm d?

(3) FreH
(7) g
(&) A9 ‘
() W=

Which of the following neighboring countries is better than

India in terms of Human Development?

(a) Bangladesh

(b) SriLanka

() Nepal
(d) Pakistan
e P.T.0.
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(v) 1 H s o gaffys av aa € ¢

(3 TSR it

(@) 999 g o

(9) 99 9

(3) YoNR a1 H

The maximum profit of Right to lnformﬁtion is :
(@) to obtain employment

(b) to obtain salary

(c) to obtain pension

(d) to stop corruption

(@gue-®) 3f9d gy wifea .

(F) (=)
(i) TaaEe 8 WA - (3 WA (PTL)
() S - (%) i e
(iif) ETEER - (@) ugfatEm
(1v) 3Tg¥4 - (3) TE S Edw
(v) T BT T TR (z) &4 F G0
-

SR

[1x5=5]
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(Part-B) Match the following :

(A) (B)

(1) Receiveg from bauxite - (a) PTL
(') Duma - (b) Physical weakness
(iif) Fascism - (¢) Aluminium -
(iv) Invisible hunger - (d) One party support
(v) The biggest news agency - (e) Parliament of Russia

of India
(@ue-v) fe wrl it gfd e

(Part-C) Fillin the blanks :
(i) WREF — i -9 Wa € |

In India % of land has forest.

(ii) Tz % FofeR SRt — g Ern ¥

Issue of money is done by of India.

(iii) aﬁ,gﬁmffﬂmqﬂéﬂW|

Germany, [taly and ___ were called Axis Power.
(iv) g@iﬁmaﬁﬁmﬁm — 29 & fazg o1
v

Freedo

country.

m Movement of Indonesia was against

[1x5=3]
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(v) Wﬁﬂ“mﬁwwvﬁmaﬁﬂimﬂ“’l;ﬁﬁ'

The first magazine in Indian language was started in the

year

-
———

: (%) U FIH 2 @ 6 aw afd oI WA ¥ VS ww
2 37% ayrefea &) (I F AfuFaT TL-HH 30 = §)

Instruction : (B) Question Nos. 2 to 6 are very short answer type questions.

Each question carries 2 marks. (Maximum word-limit of

answer is 30 words)

faFm oA S Fam F R §2 [1+1=2]

e @l foa wed &2 [2]

afeenait & 9fe wrdtaedt # # fa=mr ar? (2]

a6 Td ¥ F(G.S.T) 7w d? (2]

HEUE R+ BE X T 2]

weT-2
What are the indicators of measuring development?
gvq-3
What do you mean by current account?
uvi-4
What was the views of Fascists about women?
uvs-5
What 1s G.S.T.?
Uv1-6
What is called country of 1slands?
5-3B
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uv1-10

{71
* W) Y1 i 7 @ 10 7 A o390 I ) ey w9

3 3% yEfzq ¥ (S F Afuwan v=-dm 5oy B)

() Question Nos. 7 to 10 are very short answer type questions.
Each question carries 3 marks. (Maximum word-limit of

answer is 50 words)

g e faw -9 IEd & FA-BA OV dEm @ ¢
(=1 ) 2 [1+

q
What are the opportunities given in ‘Hindu Code Bill' for

women-men equality (any three)?

TEN G- & 96 Wi #41 F996t € 7

Why does the Government make ‘buffer stock’ of food-grains?

vifa am=<rem ¥ 3eva fefae (1 49) [1+  =3)

Write the aims of Peace Movement (any three).

wter syeran iffam e 70 E 2 (3]

What is Mall or Shopping Mall?

mp——
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Sfurmm w=z-dim 75 w2 1)
Instruction : (D) Question Nos. 11 to 14 are short answer type questions.

Each question has internal option. Each question carries

4 marks. (Maximum word-limit of answer is 75 words)

yA-11 Y T ¥ fag #h-3h @ «0F IR W TR ¥? e
T [4]
What are the different methods adopted for land
management? Explain.

ear
OR

freirfera aiferem A o am feg o € 1 37 g gt 1 39 feg wew

fam s € 2 3@ wferss & whe - [1+1+1+1=4)
F. =fea firgdt &1 sTam
1 | %R
2 |fwEm

3 | qfd=nr

4 |nfa =+t Afeen

Some names are given in the table. How do they use soil? Fill in
the table :

SI.No. Persons Use of Soil

| Potter

Farmer

Sculptor

ol WK

Woman of village |

S-38
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UI1-13

w¥-14

[9]

BT - g v

ent :
Mtion any four reasons for the First World War,

Jrerar

OR

T B 1 37 g il - @

What were the main terms of the Treaty of Versailles?

W U qrifertt & 3erd ¥ W SR fafE

Write four reasons for the rise of Mussolini in Italy.

Haar

OR

fezer =+t faew ifa +1 gz

Explain Hitler's Foreign Policy.

TaE faver e & fog uas €, $9 2 g9amEe

Population explosion is fatal for society, how? Explain.

Hygar

OR

ST @ FH-FH @ RS 9 e & 2 Feene

What are the figures

obtained from census? Explain.

(1+1+1+1=4]

[14+1+1+1=4]

(4]

[4]
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Instruction : (E)  Question Nos. 15 and 16 arc long answer type questions,

Each question has internal option. Each question carries

5 marks. (Maximum word-limit of answer is /00 words)

ueT-15 Wﬁﬁﬁmwm#wﬁ@rﬁﬁwﬁﬁ#@q

U9-16

(F Q=) |

[1+1+1+1+1=5]

Wnite briefly the reasons for the low productivity of Indian

Agriculture (any five). https:/www.cgboardonline.com

HETT
OR

8 &1 wra & fog sga dfus e ¢ fesl o fagedl o we

HifaT |

Agriculture is very important for India. Explain in any five points.

ey sfeard 3R TR Afyarg St qe wifa (S5 i) |

Compare Rural Settlement and Urban Settlement (any five).

UFT/OR

TRIFN @ HH-FE H I I0H @ @ E (9 ui) ?

What arc the problems arising from Urbanizati “)?

S-3B
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Instruction : (F) Qllestion Nos. 17 and 18 are long answer type questions.
Each question has internal option. Each question carries
6 marks. (Maximum word;lirnit of answer is /50 words)
T91-

17 :
T 50 3 w: farg foraa Wit samen Ffg) [14141+1+1+1=6]

Briefly €xplain six points of Voting Process.
HIFT/OR
S T 3 Froll & TR 0 €T 9 ¥ 2 wmeme (F ) |
Why some voters do not go for voting? Explain (any six).
P7-18 VI §6% & Frl @ ufwal & aofs fifag (FEw:) 1 [1+1+41+1+1+1=6]

Describe the works and powers of Indian Parliament (any six).

HYET/OR

o7 e @ wiEdl T Fd H avi Fifag (FE 8 |

Describe the powers and duties of the Supreme Court (any six).
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